Is Your Product Registered?
Contact your Dealer to verify.

Warranties are based on Registrations and reduced to 1 year without
Registration.




MARUYAMA

ILLUSTRATED PARTS LIST

MC-LB

LANDSCAPE BLADE

MC-LB
LANDSCAPE BLADE
PART 845429 - REV10/03 Maruyama.



ILLUSTRATED PARTS LIST

MC-LB

LANDSCAPE BLADE

2




MARUYAMA

COMMERCIAL OUTDOOR POWER EQUIPMENT

Rer # __PART # DESCRIPTION Q’TY. NOTES
1 642852 Center Blade 1

2 642853 Gear Head 1

3 642854 Detent Fitting Screw 1 M5 x 12
4 642855 Cap Bolt M5 x 25 1

5 642856 Hex Bolt M5 x 6 1

6 642857 Center Blade Fixing Bolt 1 M5 x 8
7 642858 Spring Washer 3 M5

8 642859 Stud Screw 11

9 642860 Body Case 1

10 642861 Bottom Disk Fixing Screw 4

11 642862 Qil Case (Upper) 1

12 642863 Decal (Caution) 1

13 642864 Decal (Model Name) 1

14 642865 Spacer Metal 11

15 642866 Output Shaft Spacer 1

16 642867 Thrust Metal 5

17 642868 Output Shaft Thrust Roller 2

18 642869 Drive Pinion Gear 1

19 642870 Output Shaft Fixing Screw 1

20 642871 Planetary Gear Ass'y 1

21 642872 Qil Case (Bottom) 1

22 642873 Lead Lock Nut 11 M3
23 642874 Pan head screw 2 M5x5
24 642875 Upper Blade Lower Blade 1

25 642876 Bottom Disc 1

26 642877 Grease 1

27 220534 Blade Protection Cover 1

3



ILLUSTRATED PARTS LIST
MC-LB

SHAFT




MARUYAMA

COMMERCIAL OUTDOOR POWER EQUIPMENT

ReEF # PART # DESCRIPTION Q’TY. NoOTES
1 220218 Driveshaft Tube 1
2 216090 Driveshaft 1
3 216079 Stopper 1
4 221501 Decal (Caution) 1
5 221502 Decal (Caution) 1

5



6| ILLUSTRATED PARTS LIST
MC-LB

NOTES




MARUYAMA |7
COMMERCIAL OUTDOOR POWER EQUIPMENT




Maruyama U.S,, Inc.
Post Office Box 309
Auburn, WA 98071
253-735-7368voice
253-735-1416 fax

Www.maruyama-us.com



